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i+l ﬂ
Prove that | 4 2 lis unitary. 10
$+1 -1 -
7 2
UNIT-11 -
Solve (x%y - 257) dr - (x> = ) dv = 0. 10

: . tb) Find the orthogonal lrajecctories of the family of
Nate ; elocting ; - - ¢ o
nte ; Altempl five ql:l.tL![lDﬂs 10 all, selecting ut least one question parahotas y = ax?. http://www kuonline.in 10
from cach Unit,
4, (2) Solve by the method of variotion of paraineters .
UNIT- | 97 by = gomec x 10
I. {a) Findthe inverse of die following mamx by Gauss Jurdon o '
ethod ¢ (b} A sccopd's pendulum wiich gains 10 sce/day at one
8 4 j3 place loses 10 scc/day ot another. Compare the
i A=]? 1 1 .. , acccteration due to gravity ui the (wo places. lj]
b2 10 UNIY-TiL
(b) Find tho eigenvalues and cigenvectors of the following
e | _ 5. (a) Bvaloate jr.c' ¥ eosidt 5
& -2 2 n
Asl-2 3 -l : (b) Find the inverse Laplace transform of
2 -1 3 10
pI LI TR :
2. (n) Verily Cayley-Hamilion theorem for the mnatrix A and (5 =1)(s=2)s=3)
find ity tnveme ;
) Apply Convblution theorem 10 cvatuste 10
2 -1.1
A=|-1 2 -1 L-={ d -—}
-l 2] 10 (' + 1) (s +4)
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Solve by Laplace Tramform method :
Yedyedyse' (30 =y 01 = L
Find the Lupluce trensform of (e funcdan
A e L0<t<x
K-, Rt 2N,

UNIT-LY

Form a P.D.E. from

2= 2 (x & §) 4 fHlx +3)
Solve

(4 zap -~ (s eyl =5t -y
Salve by Charpit's method

PIY S PGt Gy = Y
Solver+s-8&r=ycem x

Using methol of scparstion of vanables, solwe

w
‘;+3_1 3n;

given that w=3¢7 - Y when x = 0.
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